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Question Number : 1 Question Id : 5531723075 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The single window approach is known as
1. ATMA
2. KVK
3. ATIC
4. EEI ,

Options :

55317212241. 1
55317212242 2
55317212243. 3
55317212244 4

Question Number : 2 Question Id : 5531723076 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Red Rot is the disease of

1. Wheat
2. Rice

3. Sugarcane

4. Potato

Options :
55317212245. 1

05317212246, 2
po31/7212247. 3
2o317212248. 4

Question Number : 3 Question Id : 5531723077 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
According to Oxford Dictionary, the word ‘cyber’ DOES

NOT mean
1. Related to IT
2. Internet
3. Virtual reality
4. Desktop

Options :
55317212249. 1

D2317212250. 2
22317212251. 3
55317212252. 4
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Question Number : 4 Question Id : 5531723078 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The primary unit of society is

Options :

1. Gram Sabha

2. Gram Panchayat
3. Family

4. Village school

o317 212203. 1
22317212254. 2
SOSLE212255. 3
2231/7212256. 4

Question Number : 5 Question Id : 5531723079 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The degree to which an innovation is received as consistent
with the existing values, past experiences and needs of

potential adopters is termed as

1.
-
3.
4.

Options :

Trialability
Compatibility
Relative advantage

Complexity

55317212257. 1
D2317212258. 2
oS3l Zl220Y. 3
55317212260. 4

Question Number : 6 Question Id : 5531723080 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Statement of situation, objectives, problems and situations

iIs called

1
2.

3.
4.

Options :

Extension Evaluations

Extension Programme
Planning

Monitoring

-
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55317212261. 1
oo317212262. 2
3031212263, 5
22317212264. 4

Question Number : 7 Question Id : 5531723081 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ildentify one of the states, where initially the “Package

Programme” was NOT started?

1. Rajasthan
2. Gujarat

3. Bihar
4. Punjab

Options :
el 212205 1

D2317212266. 2
22317212267, 3
55317212268. 4

Question Number : 8 Question Id : 5531723082 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

CO-238 is a variety of

1. Maize
2. Rice

3. Cotton

4. Sugarcane

Options :
55317212269 1

o2317212270. 2
SoSlrZll2, 1. 5
o2317212272. 4

Question Number : 9 Question Id : 5531723083 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The percentage of late majority in adopters’ categories is

1.2.5%

2.13.5%
3.16.0%
4.34.0%

Options :

55317212273. 1
55317212274 2
55317212275. 3
o5317212276. 4

Question Number : 10 Question Id : 5531723084 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Laterite soils are NOT found in

1. Karnataka

2. Tamilnadu
3. Rajasthan
4. Andhra Pradesh

Options :
Sk W R o

22317212278. 2
SoS3LF212279 3
55317212280. 4

Question Number : 11 Question Id : 5531723085 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Generally, insects undergo hibernation at the temperature

of
1. 10 = 15°F
2. 20 - 28°F
3. 25 - 30°F
4. 30 - 35°F
Options :

so3Lr2l2281. 1
22317212282 2
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55317212283. 3
55317212284. 4

Question Number : 12 Question Id : 5531723086 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
“Pradhan Mantri Fasal Bima Yojana" was launched on
1. 13" January, 2016
2. 2™ October, 2015
3. 2™ October, 2016
4. 16 October, 2016

Options :
Doslr2leZus: 1

D2317212286. 2
onSlf212287. S
D2317212288. 4

Question Number : 13 Question Id : 5531723087 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
After how many days of sowing, the fourth irrigation is given
in wheat crop?

1. 70 - 75 days
2.95- 110 days
3. 90 — 95 days
4. 110 - 115 days

Options :
Sosl7Z2l22ua 1

0o317212290. 2
SoolrZll2nl. 5
22317212292, 4

Question Number : 14 Question Id : 5531723088 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

A marginal farmer owns landholding of
1.<1ha
2.1t0 2 ha
3.1.5ha
4.>2ha

Options :
55317212293, 1
05317212294 2

Bosl 212208 o
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55317212296. 4

Question Number : 15 Question Id : 5531723089 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

At which number can farmers call free to seek help from
Kisan Call Centre?

1. 15561
2. 1651
3. 1451
4. 1351

Options :

55317212297, 1
55317212298. 2
ool /7212299 3
55317212300 4

Question Number : 16 Question Id : 5531723090 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which method is used to get quick idea about agricultural
situation in a village in a short time with limited budget?

1. PRA

2. RRA

3. Sociometry
4. Census

Options :

55317212301. 1
55317212302. 2
55317212303, 3
55317212304 4

Question Number : 17 Question Id : 5531723091 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
CRM refers to

1. Carbon Ratio Management
2. Crop Rotation Management
3. Crop Residue Management
4. Cattle Resources Management

Options :
sosli2l12205 1

22317212306. 2

22317212307, 3
gcollegedunlaa
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55317212308. 4

Question Number : 18 Question Id : 5531723092 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ARYA is concerned with
1. Rural youth
2. Farm women
3. Small scale farmers

4. Crop insurance

Options :
55317212309. 1

2od17212310. 2
SoSLlidLlesll, 3
oo317212312. 4

Question Number : 19 Question Id : 5531723093 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The first Agricultural University in India was established at

1. PAU, Ludhiana

2. GBPUA&T, Pantnagar
3. TNAU, Coimbatore

4. CSAUA&T, Kanpur

Options :

sosl 212315 1
55317212314. 2
55317212315. 3
o5317212316. 4

Question Number : 20 Question Id : 5531723094 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process by which an innovation is spread in society is
called

1. Transfer of Technology
2. Diffusion
3. Communication

4. Adoption process

Options :
a1 r21Z817. 1

ol 231 2
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50317212318, 3
55317212320. 4

Question Number : 21 Question Id : 5531723095 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In case of T&V system, how many farmers in a group are
considered as contact farmers?

1.6
2.
3.10

4.8
Options :
na3lr21Zs21. 1

55317212322. 2
SOSLE212823. 3
2o31/7212324. 4

Question Number : 22 Question Id : 5531723096 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Flow diagrams, Venn diagrams and timeline are the
techniques of

1. RRA
2. PRA
3. PLA

4. Transac walk
Options :
55317212325 1
55317212326. 2
G5317212827 B
55317212328. 4

Question Number : 23 Question Id : 5531723097 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The highest milk producing country in the world in 2017-
2018 was

1. USA
2. Australia
3. Israel
4. India

Options :

SoD 17212329 1
55317212330. 2
55317212331. 3
05317212332 4

Question Number : 24 Question Id : 5531723098 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which soill is rich In carbonates?

1. Alluvial
2. Black

3. Laterite
4. Desert

Options :
121N 1

22317212334. 2
5031212535 3
2o317212336. 4

Question Number : 25 Question Id : 5531723099 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following crops is NOT grown in laterite soil?
1. Coconut
2. Coffee
3. Wheat
4. Tea

Options :

shAl 1l 2aa: A
gcollegeduniaa
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55317212338. 2
5031212539, 3
22317212340. 4

Question Number : 26 Question Id : 5531723100 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

The relative speed with which an innovation is adopted by
members of a social system is known as

1. Rate of adoption

2. The innovation decision process
3. Diffusion effect

4. Time

Options :
55317212341. 1

02317212342, 2
22317212343. 3
55317212344. 4

Question Number : 27 Question Id : 5531723101 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

On Farm Trials (OFTs) and frontline, demonstrations are
conducted by

1. ATIC
2. KVK

3.EE!
4. SAMETI

Options :

55317212345, 1
55317212346, 2
55317212347. 3
55317212348. 4

Question Number : 28 Question Id : 5531723102 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Extension is bringing about desirable changes in the
knowledge, attitude and

1. Awareness
2. Productivity
3. Eaming

4. Skills

Options :

55317212349 1
55317212350. 2
Sosll2leshl. o
55317212352 4

Question Number : 29 Question Id : 5531723103 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The decision to make use of innovations as the best course
of action is known as

1. Adoption
2. Decision

3. Deliberation

4. Evaluation

Options :
nalr21Zsns. 1

22317212354. 2
55317212355. 3
2231/7212356. 4

Question Number : 30 Question Id : 5531723104 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The expression of ends towards which our efforts are
directed is defined as

1. Target

2. Aim

3. Goal

4. Objective

Options :
55317212357. 1
DanlrZ2]l 2808, £

DaSlial2asy, 3
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55317212360. 4

Question Number : 31 Question Id : 5531723105 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A hypothesis, when tested true becomes

1. Principle
2. Philosophy
3. Law

4. Theory

Options :
soslrZlesel. 1

55317212362. 2
SoSl 212863, 5
22317212364. 4

Question Number : 32 Question Id : 5531723106 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which crop is affected by Phalaris, a minor weed?

1. Maize
2. Wheat
3. Chickpea

4. Sugarcane

Options :
oaslrdle2ded. 1

Bodlr2l1236h, 2
55317212367. 3
22317212368. 4

Question Number : 33 Question Id : 5531723107 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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According to the Law of Diminishing Marginal Ultility
(LDMU), when total utility is maximum, then marginal utility

IS
1. Maximum

2. Minimum

3. Zero
4. Negative

Options :

o0317212369. 1
o53172125370. 2
55317212371. 3
o5317212372. 4

Question Number : 34 Question Id : 5531723108 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Book entitled “An enquiry into the Nature and Causes of

Wealth of Nations” is written by
1. Adam Smith
2. Karl Marx
3. Alfred Marshall
4. Amartya Sen

Options :

05317212373. 1
55317212374, 2
o031 F212375. 3
o5317212376. 4

Question Number : 35 Question Id : 5531723109 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is based in ordinal approach to utility
analysis?

1. Law of equi -marginal utility
2. Law of diminishing return
3. Indifference curve

4. Production function
Options :
sl lelealv: 1
55317212378 2
LoslfLle2ra 3
55317212380. 4
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Question Number : 36 Question Id : 5531723110 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Difference between economic surplus and producer
surplus is

1. Marketable surplus
2. Price spread
3. Consumers’ surplus

4. Economic growth
Options :
55317212381. 1
55317212382 2
55317212383. 3
55317212384, 4

Question Number : 37 Question Id : 5531723111 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The functional relationship between inputs and outputs of a
firm is known as

1. Factor-Factor relationship
2. Production function

3. Cost function

4. Product-Product relationship
Options :
Sosllidlda8y: 1
55317212386. 2
55317212387. 3
505317212388. 4

Question Number : 38 Question Id : 5531723112 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The concept of consumer surplus was proposed by

1. Adam Smith

2. Alfred Marshall
3. J. M. Keynes

4. Samuelson

Options :
55317212389. 1

2o317212390. 2

SoSLidlesal, 3 .
gcollegedumaa
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55317212382, 4

Question Number : 39 Question Id : 5531723113 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The shape of demand curve in oligopoly market structure

IS
1. Kinked

2. Downward sloping
3. Upward sloping

4. Horizontal
Options :
55317212393, 1
05317212394 2
soal 212395 3
55317212396, 4

Question Number : 40 Question Id : 5531723114 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is Ed, if price of a commodity falls from Rs. 20 to 16
per unit and quantity demanded of the commodity
increases from 200 to 400 units?

1.05
2.1.0
3.4.0

4.50
Options :
soal/212397. 1
55317212398. 2
o5317212399. 3
55317212400 4

Question Number : 41 Question Id : 5531723115 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The ability of a good and service to satisfy human wants is
known as

1. Value
2. Utility
3. Exchange
4. Price

Options :
55317212401. 1

20317212402. 2
gcollegeduniaa
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55317212403. 3
55317212404. 4

Question Number : 42 Question Id : 5531723116 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following deals with the theory of income and
employment?

1. Macro economics
2. Micro economics
3. Price theory

4. Public finance

Options :
55317212405. 1

00317212406. 2
22317212407. 3
55317212408. 4

Question Number : 43 Question Id : 5531723117 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Who defined economics based on scarcity concept?

1. Adam Smith

2. Lionel Robins
3. Karl Marx

4. Alfred Marshall

Options :
55317212409. 1

22317212410. 2
oo317212411. 3
55317212412. 4

Question Number : 44 Question Id : 5531723118 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When a consumer derives more utility from woolen cloths
in winter as compared to in summer, then it is known as

1. Form utility
2. Place utility
3. Possession utility

4. Time utility

Options :
gcollegedunlaa
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55317212413. 1
oo317212414. 2
SoolrZldqals. 5
o2317212416. 4

Question Number : 45 Question Id : 5531723119 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Free goods have

1. Value in use

2. Value in exchange
3. Price

4. None of these

Options :
5o317212417. 1

oo317212418. 2
Soolr2llqars 5
22317212420. 4

Question Number : 46 Question Id : 5531723120 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Of many isoclines, the isocline which is considered most
appropriate over the production period is called

1. Scale line

2. Expansion path
3. Ridge line

4. Isocost line

Options :
onslrdledsl. 1

20317212422, 2
BoIL7¥212423. 2
22317212424. 4

Question Number : 47 Question Id : 5531723121 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which type of following demand refers to a demand for
goods which are required for further production of other
economic goods?

1. Market
2. Derived
3. Individual

4. Cross

Options :
onslrdledzs. 1

55317212426. 2
02317212427, 3
22317212428. 4

Question Number : 48 Question Id : 5531723122 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

According to law of demand, the price of a commodity has
what type of relationship with quantity demanded of that
commodity at given point of time and place?

1. Inverse
2. Positive
3. Zero

4. Units

Options :
55317212429 1

22317212430. 2
SoIlrZl2431, 5
22317212432. 4

Question Number : 49 Question Id : 5531723123 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The technical efficiency is highest when

1. APP is at its maximum
2. MPP is at its maximum
3. TPP is at its maximum

4. MPP is at its zero

Options :
55317212433. 1

22317212434, 2
55317212435. 3
22317212436. 4
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Question Number : 50 Question Id : 5531723124 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When there is only one buyer and many sellers, then its
market structure is called

1. Monopoly
2. Monopsony
3. Oligopoly

4. Monopolistic
Options :
55317212437. 1
55317212438 2
55317212439, 3
55317212440. 4

Question Number : 51 Question Id : 5531723125 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
GDP plus net factor income from abroad is
1. Net National Product (NNP)
2. Gross National Product (GNP)
3. Disposable income
4. Net Domestic Product (NDP)

Options :

55317212441. 1
55317212442 2
55317212443 . 3
55317212444 4

Question Number : 52 Question Id : 5531723126 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Agriculture markets belong to which of the following form of

market structure?
1. Imperfect
2. Oligopoly
3. Monopoly
4. Perfect

Options :
55317212445. 1

55317212446. 2
55317212447. 3
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55317212448. 4

Question Number : 53 Question Id : 5531723127 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In factor-product relationship, after inflexion point the TPP
curve becomes

1. Parallel to output axis
2. Parallel to input axis
3. Convex to input axis

4. Concave to input axis

Options :
55317212449. 1

22317212450. 2
55317212451. 3
22317212452. 4

Question Number : 54 Question Id : 5531723128 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Revealed preference theory of demand was proposed by

1. Alfred Marshall
2. Samuelson

3. J. M. Keynes

4. Hicks & Slutsky

Options :

55317212453, 1
55317212454, 2
55317212455, 3
55317212456, 4

Question Number : 55 Question Id : 5531723129 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

GST is an example of
1. Direct tax
2. Corporate
3. Excise duty

4. Indirect tax

Options :

[ ]
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55317212457. 1
o2317212458. 2
SoolrZ2ll2qasy 5
22317212460. 4

Question Number : 56 Question Id : 5531723130 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An increase in cost of living due to rise in price is a symbol
of

1. Deflation
2. Inflation
3. Depression
4. Stagflation

Options :
55317212461. 1

55317212462, 2
22317212463, 3
22317212464, 4

Question Number : 57 Question Id : 5531723131 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who is considered widely as Father of Modern Economics?

1. J. M. Keynes
2. Adam Smith
3. Alfred Marshall

4.J.S. Mill
Options :
55317212465. 1
00317212466. 2
02317212467. 3
52317212468. 4

Question Number : 58 Question Id : 5531723132 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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NABARD was established in the year

1. 1982
2. 1985

3. 1956
4. 1936

Options :
55317212469. 1

22317212470. 2
oo317212471. 3
02317212472. 4

Question Number : 59 Question Id : 5531723133 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the Headquarter of Asian Development Bank
located?

1. Bangkok
2. Kathmandu

3. Manila

4. Singapore
Options :
55317212473. 1
552317212474, 2

2231/7212475. 3
2o317212476. 4

Question Number : 60 Question Id : 5531723134 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following was NOT merged with SBI?

1. State Bank of Hyderabad
2. State of Bikaner
3. State of Sourashtra

4. Bank of India

Options :
55317212477. 1

2231/7212478. 2
Boslr2124r9 o
02317212480. 4
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Question Number : 61 Question Id : 5531723135 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The year of establishment of first Regional Rural Bank
(RRB) in India is

1. 1965
2. 1975
3. 1985
4. 1995

Options :
55317212481. 1

oo317212482. 2
55317212483. 3
22317212484, 4

Question Number : 62 Question Id : 5531723136 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The agency that regulates operation of crop Insurance in
India is

1. RBI
2. NABARD

3. AlC
4. GIC

Options :
55317212485. 1

55317212486. 2
02317212487, 3
22317212488. 4

Question Number : 63 Question Id : 5531723137 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Difference between the price received by producer and the
price paid by consumer is called

1. Market price
2. Price spread
3. Retail price

4. Farm harvest price

Options :
ool 212489, 1
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55317212490. 2
oo317212491. 3
22317212492, 4

Question Number : 64 Question Id : 5531723138 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Central AGMARK laboratory is located at

1. Faridabad
2. Hyderabad

3. Jaipur
4. Nagpur

Options :
o3l 212493, 1

22317212494, 2
soS3Lr212495. 3
22317212496. 4

Question Number : 65 Question Id : 5531723139 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The marketable surplus of agriculture produce is highest in
case of
1. Large farmers

2. Small farmers
3. Agricultural laborers

4. Marginal farmers
Options :
55317212497, 1
55317212498 2
55317212499, 3
55317212500. 4

Question Number : 66 Question Id : 5531723140 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Identify the central agency that advises Government of
India on fixation of MSP for major crops.

1. FCI
2. NABARD
3. CACP

4. APEDA

Options :
55317212501. 1

02317212502. 2
oSl L1260, 3
55317212504 4

Question Number : 67 Question Id : 5531723141 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ratio of total agriculture export to agriculture import is
known as

1. Exchange rate

2. Agricultural trade

3. Balance of payment

4. Terms of trade in agriculture

Options :
nosliZ2lZ505: 1

55317212506, 2
oSl r212:07. &
55317212508. 4

Question Number : 68 Question Id : 5531723142 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When tariff rates on import of cotton reduce significantly,

then Indian Cotton Farmers will be
1. Benefited
2. Negatively affected
3. Not affected

4. No negative or positive effect
Options :
55317212509. 1
55317212510, 2
soslidldoll, 3
55317212512 4

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



Question Number : 69 Question Id : 5531723143 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Central Warehousing Corporation was set up in the year

1. 1957
2. 1967

3. 1965
4.1975

Options :
55317212513. 1

o231/7212514. 2
SoolfZlnls. 5
o2317212516. 4

Question Number : 70 Question Id : 5531723144 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

FCI deals with
1. Price policy
2. Procurement of food grain
3. Procurement of cotton & chilli

4. Agriculture credit

Options :

55317212517. 1
55317212518. 2
o5317212519. 3
55317212520. 4

Question Number : 71 Question Id : 5531723145 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

The integrated farm that comprises crops and livestock is
known as

1. None cropping
2. Mixed farming
3. Inter-cropping

4. Multiple cropping

Options :
55317212521. 1
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55317212522. 2
5031212523, 3
D2317212524. 4

Question Number : 72 Question Id : 5531723146 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ratio of gross irrigated area to net irrigated area is
known as

1. Cropping intensity
2. Irngation potential
3. Irrigation intensity
4. Cropping sequence

Options :

Sosllidldsdy: 1
55317212526, 2
ool l212o2f. 3
505317212528, 4

Question Number : 73 Question Id : 5531723147 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Linear programming tool is formulated by

1. George B. Dantzig
2. J. M. Keynes

3. Ragnar Frisch

4. Adam Smith

Options :
Boslidldnds 1

o317 212530. 2
SoSLidleadl, 3
oo317212532. 4

Question Number : 74 Question Id : 5531723148 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Cost function, shape of AFC-curve is

1. Linear

2. Inverted “S"-shaped

3. Rectangular hyperbola
4. Inverted ‘U’ shaped

Options :

o317 212552. 1
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55317212534. 2
5031212535, 3
22317212536. 4

Question Number : 75 Question Id : 5531723149 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Ep is more than one, when
1. MPP > APP
2. MPP = APP
3. MPP < APP
4. MPP =0

Options :
1T 21ZB57. 1

SoSLFLl2al8, 2
5031212539, 3
55317212540. 4

Question Number : 76 Question Id : 5531723150 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In Production Function, TPP is maximum, when MPP is

. >

Options :
55317212541. 1

o2317212542. 2
22317212543, 3
22317212544, 4

Question Number : 77 Question Id : 5531723151 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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After the point of inflection in production function, the TPP
1. increases at increasing rate
2. increases at decreasing rate
3. decreases at decreasing rate
4. decreases at increasing rate

Options :
55317212545 1

22317212546, 2
2o317212547. 3
22317212548. 4

Question Number : 78 Question Id : 5531723152 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which type of farming has lower risk?
1. Specialized
2. Mixed

3. Diversified

4. Cooperative
Options :
55317212549 1
55317212550, 2
55317212551, 3
55317212552, 4

Question Number : 79 Question Id : 5531723153 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The surplus of total assets over total liabilities is known as

1. Net worth
2. Net profit

3. Net liability

4. Gross value
Options :
55317212553, 1
55317212554, 2
05317212555, 3
55317212556, 4

Question Number : 80 Question Id : 5531723154 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 .
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Least cost combination of two resources is a point at which
1. MRTS > Price Ratio
2. MRTS = Price Ratio
3. MRTS < Price Ratio
4. MRTS = Zero

Options :
nnlr21Zeny 1

SoSLiLl 2oy, 2
5031212559, 3
22317212560. 4

Question Number : 81 Question Id : 5531723155 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In factor-factor relationship, isoquant curve is

1. Concave to origin
2. Convex to origin
3. Linear

4. Vertical
Options :
55317212561. 1
55317212562, 2
55317212563, 3
55317212564 4

Question Number : 82 Question Id : 5531723156 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The functional form X1 = f (X2 ; Y°) or X2 = f (X1 ; Y°)
represents

1. Factor — factor relationship
2. Product — product relationship
3. Factor — product relationship

4. Cost — product relationship
Options :
55317212565 1
55317212566, 2
sosliZlZabi, 3
55317212568. 4

Question Number : 83 Question Id : 5531723157 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Which of the following principles helps farmers in solving
the problem of “How to Produce"?

1. Law of diminishing returns (LDR)
2. Law of equi-marginal returns (LEMR)
3. Principle of factor substitution

4. Principle of product substitution

Options :
ooslr2l2ee9. 1

Bodlizl2sr. 2
o317 212571 3
o2317212572. 4

Question Number : 84 Question Id : 5531723158 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If MRSMC, then additional profits can be made by using
1. Less inputs
2. More inputs
3. Same input

4. Zero input
Options :
55317212573 1
55317212574, 2
55317212575, 3
55317212576. 4

Question Number : 85 Question Id : 5531723159 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In which of the following production period / function there
exist distinction between fixed and variable costs?

1. Short term

2. Long term

3. Both Short term and Long term

4. Neither in Long term Nor Short term
Options :
oSl 212077, 1
55317212578 2

SoSLFLlE2NF9 3
55317212580. 4

Question Number : 86 Question Id : 5531723160 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The risks associated with price volatilities are
1. Production risks
2. Technological risks
3. Market risks

4. Natural risks

Options :
oaslrdlzonl. 1

soslrelzsss, 2
55317212583. 3
22317212584. 4

Question Number : 87 Question Id : 5531723161 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Marginal rate of product substitution (MRPS) in
complementary enterprises is

1. Greater than zero
2. Less than zero
3. Equal to unity

4. Equal to zero
Options :
250317212585, 1
55317212586, 2
55317212587. 3
55317212588, 4

Question Number : 88 Question Id : 5531723162 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The economic principle that guides a farmer on how losses
can be minimized during price adversities is

1. Time comparison principle

2. Cost principle

3. Law of diminishing returns (LDR)

4. Law of equi-marginal returns (LEMR)

Options :
anal 2120 1

oSl iLl2bal, 2
SOSLr212591. 3
2231/7212592. 4
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Question Number : 89 Question Id : 5531723163 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Er in zone-ll of classical production function is
3.5
2.1
3.0
4. Positive but < 1

Options :
ool 212593 1

55317212594, 2
oSl r2lZ2ats. o
22317212596. 4

Question Number : 90 Question Id : 5531723164 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Assets that can be converted into cash during the
accounting year are known as

1. Fixed assets
2. Fixed liabilities
3. Current assets

4. Current liabilities

Options :
DoSlr2lenyys. 1

SoI1 FZ12598, 2
ST A WA R b
55317212600. 4

Question Number : 91 Question Id : 5531723165 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Farm management can be considered as
1. Micro-economics
2. Macro-economics
3. Public finance
4. Production economics

Options :
55317212601. 1
Sasl721 2002 2
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55317212603. 3
55317212604. 4

Question Number : 92 Question Id : 5531723166 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In farm management studies, cost ‘C’' comprises
1. Cost B + Rental value of owned land

2. Cost B + Rental value for leased-in land
3. Cost B + Imputed value of owned family labour

4. Cost B + Interest on fixed cost

Options :
55317212605. 1

55317212606. 2
22317212007, 3
55317212608. 4

Question Number : 93 Question Id : 5531723167 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The financial position and stability of a business at a given
time can be shown in

1. Income statement
2. Net worth statement
3. Profit-loss statement

4. Cash-flow statement

Options :

55317212609, 1
55317212610, 2
55317212611. 3

55317212612. 4

Question Number : 94 Question Id : 5531723168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ridge line is also called as

1. Boundary line
2. Expansion path
3. Isocline

4. |so cost line

Options :
ool r2lZbls 1

22317212614. 2

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



55317212615. 3
55317212616. 4

Question Number : 95 Question Id : 5531723169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The sum of all costs to produce a unit quantity of farm
produce is known as

1. Cost of cultivation
2. Average cost
3. Cost of production

4. Total cost

Options :
sl fZlgibly: 1

223172126018. 2
soS3Lr212619 3
55317212620. 4

Question Number : 96 Question Id : 5531723170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The deduction of cost ‘C’ from gross farm income is known

as
1. Net income

2. Farm business income
3. Farm investment income

4. Family labour income

Options :
5531721z621. 1

22317212622, 2
22317212023, 3
55317212624. 4

Question Number : 97 Question Id : 5531723171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following states, DOES NOT have Extension
Education Institute (EEI)?
1. Gujarat

2. Andhra Pradesh
3. Rajasthan

4. Assam
Options :
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55317212625. 1
55317212626. 2
SoSlrZllbey: 5
22317212628. 4

Question Number : 98 Question Id : 5531723172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is complete journalism?

1. Radio
2. Photograph
3. Poster

4. Doordarshan

Options :

55317212629 1
55317212630, 2
55317212631, 3
o5317212632. 4

Question Number : 99 Question Id : 5531723173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

When a small group of knowledgeable persons is given a
problem and asked to produce as many solutions as
possible within a given period. It is called

1. Role playing
2. Brainstorming
3. Workshop

4. Buzz session

Options :

55317212633, 1
55317212634, 2
55317212635, 3
05317212636, 4

Question Number : 100 Question Id : 5531723174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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“Not less than one third of the total numbers of seats in all
three tiers of Panchayat in the country shall be reserved for
women”, was envisaged in

1. 715 Amendment Act of 1992
2. 73" Amendment Act of 1992
3. 74™ Amendment Act of 1994

4. 69" Amendment Act of 1990
Options :
onolfZlees7. 1
55317212638, 2
55317212639, 3
55317212640. 4

Question Number : 101 Question Id : 5531723175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A small, economically homogeneous affinity group of rural

poor, voluntarily formed to save and mutually agreed to
contribute to a common fund to be lent to its members as
per group decision for socio-economic development is

1. Self Help Group
2. NGO
3. NSSO

4. Panchayat

Options :
5531721z641. 1

o2317212042. 2
22317212643. 3
2o3172126044. 4

Question Number : 102 Question Id : 5531723176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one indicates no order or distance relationship and
has no arithmetic origin?

1. Nominal Scale
2. Ordinal scale
3. Interval scale

4. Ratio scale
Options :
55317212645. 1
55317212646. 2
55317212647. 3
55317212648. 4
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Question Number : 103 Question Id : 5531723177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Agri-clinic & Agri-business centres scheme is run by

1. MANAGE
2. NAARM
3. NIRD

4. EEls

Options :

55317212649, 1
55317212650, 2
55317212651, 3
55317212652 4

Question Number : 104 Question Id : 5531723178 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Farmers First Programme is being monitored by

1. NIRD

2. ICAR

3. MANAGE
4. IFFCO

Options :
onslrdlzbhs, 1

55317212654. 2
Sool 2l 2bos. 5
22317212656. 4

Question Number : 105 Question Id : 5531723179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT the step of extension

teaching?
1. Conviction
2. Interest

3. Action
4. Trial

Options :

55317212657. 1
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55317212658. 2
22317212659. 3
22317212660. 4

Question Number : 106 Question Id : 5531723180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When some parts of the people’s culture do not change as
do other traits, we call it

1. Culture diffusion
2. Cultural lag

3. Culture heritage
4. Culture patterns

Options :

55317212661, 1
55317212662, 2
55317212663. 3
55317212664, 4

Question Number : 107 Question Id : 5531723181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Lerma Rojo and Sonara-64 introduced in India in 1964-65,
were varieties of

1. Rice
2. Wheat
3. Maize

4. Lentil

Options :

55317212665, 1
55317212666, 2
55317212667. 3
55317212668, 4

Question Number : 108 Question Id : 5531723182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Source — Transmitter — Signal — Receiver —
Destination, are the elements of the model of
communication process as given by

1. Aristotle

2. Shannon and Weaver

3. Berlo

4. J. Paul Leagan
Options :
55317212669 1
55317212670, 2

55317212671. 3
55317212672. 4

Question Number : 109 Question Id : 5531723183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When only two irrigations are available for wheat, at which
critical stage should the crop be irrigated?

1. Crown root initiation & Milking stage
2. Crown root initiation and Flowering
3. Joint & Dough stage

4. Tillering and Flowering
Options :
55317212673. 1
55317212674. 2
55317212675. 3
55317212676. 4

Question Number : 110 Question Id : 5531723184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Which group of micro-organisms has highest biomass in
soils?
1. Actinomycetes
2. Fungi
3. Algae

4. Bacteria
Options :
55317212677. 1
sl iZlZb/lg, 2
bo3lr2126/9. 3
55317212680. 4

Question Number : 111 Question Id : 5531723185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcol legedunia:
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Little leaf of citrus is due to

1. Nitrogen deficiency
2. Iron deficiency
3. Zinc deficiency

4. Water deficiency

Options :

55317212681. 1
55317212682, 2
55317212683, 3
55317212684 4

Question Number : 112 Question Id : 5531723186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The ability to project ourselves into other people's
feelings/personas is called

1. Sympathy
2. Empathy
3. Telepathy
4. Heterophily

Options :

55317212685. 1
55317212686, 2
55317212687, 3
505317212688. 4

Question Number : 113 Question Id : 5531723187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Achromatic colours are

1. White & Black
2. Green & Blue
3. Yellow & Blue
4. Green & Yellow

Options :
55317212689. 1

22317212690. 2
oo317212691. 3
22317212692, 4
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Question Number : 114 Question Id : 5531723188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Telling a story for obtaining a product as a result of a
process can be depicted by

1. Poster
2. Flow chart
3. Flash cards

4. Chalk board

Options :
55317212693 1

o2317212694. 2
SoolFZ2l2B0s. 5
22317212696. 4

Question Number : 115 Question Id : 5531723189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

World Radio Day is celebrated on
1. 24 December
2. 13 February
3. 16 October
4. 3 March

Options :

55317212697. 1
55317212698. 2
55317212699. 3
55317212700 4

Question Number : 116 Question Id : 5531723190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

World Rural Women Day is celebrated on
1. 15 October
2. 16 October
3. 8 March
4. 23 December

Options :
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55317212701. 1
55317212702. 2
SoSlFZl27s. 5
22317212704. 4

Question Number : 117 Question Id : 5531723191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following has NOT been incorporated in
SGSY?

1. IRDP
2. DWCRA
3. TandV

4. TRYSEM
Options :
55317212705, 1
55317212706, 2
o5317212707. 3
50317212708. 4

Question Number : 118 Question Id : 5531723192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In case employment under MNREGA is provided beyond 5

km radius of the applicant's residence, then he/she is
entitled to additional wages of

1. 5%
2. 10%

3.8%
4. 7%

Options :

55317212709. 1
55317212710. 2
55317212711. 3
55317212712 4

Question Number : 119 Question Id : 5531723193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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To implement SGRY, proportionate share of contribution of
Center and States is

1.25: 75
2.50:50
3.70:30
4.75:25

Options :
ahslf2l27 1% 1

o2317212714. 2
SOSLE212115. o
po31/7212716. 4

Question Number : 120 Question Id : 5531723194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The ICDS was launched by

1. Ministry of Social and Women's Welfare

2. Ministry of Tribal Development

3. Ministry of Agriculture and Farmers’ Welfare
4. Ministry of Finance

Options :
saslr2lerly: 1

SoI1 212718, 2
SoSLiLl2f 1Y, 3
55317212720. 4

Question Number : 121 Question Id : 5531723195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Agriculture Polytechnic in India was started on the
recommendations of

1. Farmers’ Commission (M.S. Swaminathan)
2. Planning Commission
3. Tribal Development Commission

4. Kothari Education Commission

Options :

sosll 212721, 1
55317212722, 2
o5317212723. 3
05317212724 4

Question Number : 122 Question Id : 5531723196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Monitoring is following up or checking on the activities
which we have

1. evaluated

2. planned only

3. implemented only

4. Both planned and implemented

Options :
ooSlidl2rdd. 1

soslreldrae, 2
BOILF 212527, 3
22317212728. 4

Question Number : 123 Question Id : 5531723197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following methods is appropriate to compare
two groups with respect to a certain variable?

1. Z-test
2. Attitude scale
3. Sociometry

4. t-test

Options :

55317212729. 1
55317212730 2
o5317212731. 3
o5317212732. 4

Question Number : 124 Question Id : 5531723198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Combination breeding for variety development is done by

1. Introduction

2. Mutation

3. Polyploidy

4. Hybridization and selection

Options :

SoS 17212533, 1
50317212734, 2
Soolldldrdy: o
55317212736, 4

Question Number : 125 Question Id : 5531723199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Among different attributes of an innovation, which of the
following attributes is negatively related to its rate of
adoption?

1. Relative advantage
2. Trialability

3. Complexity

4. Observability

Options :

oo317212737. 1
55317212738. 2
o0dlr212139. 3
o5317212740. 4

Question Number : 126 Question Id : 5531723200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who of the following adopts new ideas just before average
members of the community?

1. Early adopters
2. Late majority
3. Innovators

4. Early majority

Options :
noslrZ2lZrdl. 1

22317212742, 2
soslr2l2ras o
02317212744. 4

Question Number : 127 Question Id : 5531723201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Crown gall is a bacterial disease of

1. Chickpea
2. Cotton
3. Sugarcane
4. Pigeon-pea

Options :

DosllZld/gn, 1

55317212746, 2

oo317212747. 3
2231/7212748. 4

Question Number : 128 Question Id : 5531723202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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The process of growing plants in liquid medium with added
nutrients but without soll is

1. Hydroponics
2. Geology
3. Vertical farming

4. Ergonomics
Options :
55317212749, 1
55317212750, 2
Sosllelefhl. o
55317212752 4

Question Number : 129 Question Id : 5531723203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the special type of communication, in that the
messages are concerned with new ldeas :

1. Phatic communication
2. Diffusion
3. Intra personal communication

4. Non-verbal communication
Options :
65317212753 1
55317212754. 2
55317212755, 3
55317212756. 4

Question Number : 130 Question Id : 5531723204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT the online course for which
e-learning was initiated in Philippines?

1. Millets
2. Goat
3. Citrus

4. Banana

Options :

50317212757. 1
Sosll 212708, 2
sool 21209, 3
55317212760. 4

Question Number : 131 Question Id : 5531723205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Extension teaching is process of creating situations that is
conducive to effective

1. understanding
2. learning
3. awareness

4. knowledge

Options :
ob317212761. 1

55317212762. 2
SoSl 212763, 5
o2317212764. 4

Question Number : 132 Question Id : 5531723206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which of the following is NOT an informal group?

1. Registered societies
2. Friendship groups

3. Play groups
4. Family groups

Options :

Soolseld?hs: 1
55317212766, 2
50317212767. 3
505317212768, 4

Question Number : 133 Question Id : 5531723207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The author of the book, “Diffusion of Innovations” is

1. Everett M. Rogers
2. J. Paul Leagans
3. David K. Berlo

4. Robert Chambers

Options :

55317212769, 1
55317212770, 2
o5317212771. 3

55317212772. 4

Question Number : 134 Question Id : 5531723208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
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Which of the following is NOT an element in diffusion of
innovations?

1. Innovation

2. Communication channels
3. Time

4. Credit

Options :

oosliZl2ri3. 1
55317212774 2
SoSLf2127 5. 3
55317212776, 4

Question Number : 135 Question Id : 5531723209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What occurs when an individual or some other decision
making unit forms a favourable or unfavourable attitude
toward the innovation?

1. Knowledge

2. Decision

3. Implementation
4. Persuasion

Options :

55317212777. 1
55317212778. 2
SoSliZlZ2ird 3
55317212780. 4

Question Number : 136 Question Id : 5531723210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Kisan Call Centres work during

1.6 amto 10 pm, all 7 days a week

2.6 amto 10 pm, all 5 days a week

3. 7amto 5.30 pm, all 7 days a week
4.7.30 am to 6.00 pm, all 6 days a week

Options :

oo317212781. 1
oodlr2larsd. 2
55317212783. 3
o5317212784. 4

Question Number : 137 Question Id : 5531723211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcol legedunia:
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Which of the following is NOT a Group Contact Method?
1. Field day
2. Result demonstration
3. Method demonstration
4. Farm clinic

Options :
55317212785. 1

2o317212786. 2
SOSLFLL2F8T. 3
55317212788. 4

Question Number : 138 Question Id : 5531723212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Gurgaon Project was initiated in

1. Uttar Pradesh

2. Rajasthan

3. Haryana

4. Madhya Pradesh

Options :
aaalfZl27nY 1

oSl iZl200, 2
SOSLr212191. 3
55317212792. 4

Question Number : 139 Question Id : 5531723213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e-Chaupal was launched by
1. G
2. Reliance Foundation
3. Tata Chemicals
4. IFFCO

Options :

oo3l/7212793. 1
55317212794, 2
o5317212795. 3
55317212796, 4

Question Number : 140 Question Id : 5531723214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 4 Wrong Marks : 1

Which one is NOT a probability sampling technique?
1. Cluster sampling
2. Multistage sampling
3. Systematic sampling
4. Snow ball sampling

Options :
oaslrdl2rar, 1

55317212798. 2
Sool 212793 5
55317212800. 4

Question Number : 141 Question Id : 5531723215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following state is NOT among the top ten
mango producing states?

1. Uttar Pradesh
2. Andhra Pradesh

3. Rajasthan
4. Tamil Nadu

Options :

55317212801. 1
55317212802, 2
oosll212803, 3
55317212804, 4

Question Number : 142 Question Id : 5531723216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which state uniquely stands in the 10th position in the list
of the top 10 largest Banana Producing States?

1. Karmataka
2. Maharashtra
3. Odisha

4. Tamil Nadu

Options :

55317212805, 1
o5317212806. 2
55317212807. 3
55317212808. 4

Question Number : 143 Question Id : 5531723217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical .
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Correct Marks : 4 Wrong Marks : 1
Root rot disease in rice can be prevented by

1. Seed treatment using Trichoderma.

2. Applying more urea.
3. Flooding the field with water.
4. Spraying salty water in nursery.

Options :
ool r212809. 1

55317212810. 2
SoolrZl2Nll. 5
o2317212812. 4

Question Number : 144 Question Id : 5531723218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In case of “Correlation Coefficient”, if “r" is close to “0", it
means

1. Weak correlation

2. Moderate correlation

3. No relation between the variables
4. Inverse correlation

Options :

o0317212813. 1
55317212814 2
00317212815, 3
oo317212816. 4

Question Number : 145 Question Id : 5531723219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT among the top five sugarcane
producing states is India?

1. Uttar Pradesh
2. Maharashtra
3. Karnataka

4. Punjab

Options :
oos3lr2len8lr, 1

22317212818. 2
55317212819. 3
55317212820. 4
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Question Number : 146 Question Id : 5531723220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Neem coating of urea helps in

1. gradual release of urea.
2. improving available of P & K.

3. reducing incidence of pests in crops
4. preventing diseases.

Options :
55317212821. 1

05317212822. 2
22317212823, 3
oo317212824. 4

Question Number : 147 Question Id : 5531723221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The preferred species of earthworm for vermicompost
making is

1. Perionyx excavatus

2. Eisenia foetida (Red earthworm)

3. Eudrilus eugeniae (night crawler)

4. Both Perionyx excavatus and Eudrilus eugeniae
Options :
ool 212825, 1
55317212826. 2

DoSlrZl28er, 3
2o317212828. 4

Question Number : 148 Question Id : 5531723222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The first step in programme planning process is

1. Evaluation

2. Analysis of situations

3. Deciding objectives

4. Executing the programme

Options :
Dosl7212829. 1

55317212830. 2
DodlirZl2e3l. 3
20317212832, 4
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Question Number : 149 Question Id : 5531723223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Oryza sativa (Rice) is NOT found in
1. Asia
2. West Africa
3. America

4. Europe

Options :
Sl 2l 2N3% 1

22317212834. 2
SOSLE212835. 3
55317212836. 4

Question Number : 150 Question Id : 5531723224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
ICAR - National Research Centre On Meat is located at

1. Mumbai
2. Hyderabad

3. Nagpur
4. Bangalore

Options :

Sosll 212837, 1
55317212838. 2
55317212839. 3
05317212840. 4

Question Number : 151 Question Id : 5531723225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

ICAR - Indian Institute of Farming Systems Research
(IIFSR) is located at

1. Karnal

2. Delhi

3. Hyderabad
4. Modipuram

Options :

00317212841, 1
o5317212842. 2
55317212843. 3
55317212844 4
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Question Number : 152 Question Id : 5531723226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What percentage of cropped area of India is under wheat?
1. 10%
2. 13%
3. 15%
4. 17%

Options :
55317212845. 1

22317212846. 2
55317212847. 3
55317212848. 4

Question Number : 153 Question Id : 5531723227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In wheat, plants are pale green to yellow with chlorosis
beginning on lower leaves and progressing upwards due to
deficiency of

1. Nitrogen
2. Water
3. Sulfur

4. Boron

Options :
55317212849. 1

22317212850. 2
o3l rZl2851, 3
55317212852. 4

Question Number : 154 Question Id : 5531723228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Gossypium hirsutum refers to
1. Sugarcane
2. Cotton
3. Mango
4. Wheat

Options :
55317212853. 1
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55317212854. 2
22317212855. 3
2o317212856. 4

Question Number : 155 Question Id : 5531723229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Which of the following is NOT a nutri-cereal?
1. Jowar
2. Ragi
3. Rice
4. Bajra

Options :
ool 2l 1

22317212858. 2
SoS3LF212859: 3
55317212860. 4

Question Number : 156 Question Id : 5531723230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Somatic Hybridization is achieved through

1. Protoplast fusion
2. Grafting
3. Conjugation

4. Recombinant DNA technology

Options :
55317212861. 1

02317212862 2
22317212863, 3
55317212864. 4

Question Number : 157 Question Id : 5531723231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In Normal distribution of data

1. Mean and mode are equal.
2. Mean and median are equal.
3. Median and mode are equal.

4. Mean, median and mode are equal.

Options :
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55317212865. 1
55317212866. 2
SHSL 212867 5
55317212868. 4

Question Number : 158 Question Id : 5531723232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A short duration crop between two main crops is referred to
as

1. Companion crop
2. Ephemeral crop
3. Cash crop

4. Catch crop

Options :
ool r212869. 1

05317212870. 2
55317212871. 3
22317212872. 4

Question Number : 159 Question Id : 5531723233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Study of the situations, identification of the problems, fixing
objectives, plan of work, execution of the plan and
evaluation are six steps of

1. Extension teaching process

2. Programme planning process
3. Extension evaluation process
4. Programme monitoring process

Options :
oos3lr2lenrs 1

22317212874. 2
55317212875. 3
55317212876. 4

Question Number : 160 Question Id : 5531723234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Coordinate extension activities at district level for
agricultural development is the theme of

1. KVK
2. ATMA
3. ATIC
4. DRDA

Options :
oos3lr2leZ8ry. 1
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55317212878. 2
55317212879. 3
22317212880. 4

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



